AERFENFERE R
QI EHIZFE)

WREB: 201947 A 01 HE 20194 09 A 30 B P
T 4 # HABEZMY AL 500 FREHIH @ NG
ﬁfing #]5% 4113776622622 Eﬁﬁl%w:ff xg%%ﬁsz&
MG |
HEAREE % 3£/17372959966 % |
(%) Y dr, (EE) o
S KEFET %ﬁ%mi\iﬁué-é‘?éjfr%:' Bk
K 90%
HAF RitEE | REEHH Rt
HK 32.04 0.49 17.50
R 8.89 0.00 0.00
RLAFEEKR 1.36 0.00 0.00
#3534 g% 0.17 0.00 0.00
3 £ + 7 2 ¥ FUE A 7.81 0.14 5.38
hm? EHK G H 2.00 0.00 2.48
6 Ll o 2.60 021 1.43
7 T B At A 53 7.89 0.00 6.18
FEAER 1.32 0.00 0.00
BEFHE 0.00 0.14 2.03
4K *3 AA L Zind RItER | AFEHH it
THEER THES hm’ 6.75 0 0
X e qHESEZ | K 100 0 0
HoiE EHF hm? 6.75 0 0
TE#E HES hm? 1.36 0 0
FreEdE A m 200 0 0
L | EIEFE MYEEY | B 200 0 0
"Miz%m BE e ARG | Bk 200 0 0
MR | A 2 0 0
BEHER | m 3000 0 0
THR#E THBEE hm? 0.06 0 0
#HIFE X (EE k| WIEEA hm? 0.06 0 0
I B # | A m 141 0 0
#+FE | Am 1.58 0.25 1.29
BEESHE | TEHHE
HEEE | Ao 1.58 0.12 1.20




T H S hm? 4.93 0.24 4.06
| #EEN | ho? 1.32 0.15 1.83
¥
i hm? 0 0 0
FEHWEEx| m? 0 6000 36000
I Bt 38 7 —
FAHGEZx| m? 0 200 3200
13y | 7 md 0.60 0 0.20
ktEHE | Fm’ 0.60 0.02 0.20
TR
T H S hm? 2.00 0.95 2.48
EIR G
HIEEN hm? 0.50 0.03 0.4
BAAETEx| m? 0 0 3600
e Bt 4 7
ARAR 48 m? 0 500 2800
kEFE | Amd 0.47 0 0
Rk+EE | T’ 0.47 0 0
T leatE | TRHEE
% T H S hm? 1.56 0.3 1.33
HIEEAN hm? 0.39 0.18 0.64
e Bt 3 A A AR 4 Bk m? 0 400 2400
kLB 7 m? 2.37 0.22 2.24
Rk+EE | Fmd 2.37 0.21 2.04
T2
T H S hm? 7.89 0.8 5.18
BIEEN hm? 1.97 0.27 2.11
- FEEHAA m 4752 0 0
T AR
MRS Bt 3 6045 0
38 e REE | m 0
R T IR m’ 6045 0 0
e Bt 3| BT A 263 0 0
FEAE S m? 15928 600 4300
B4 A HEx| m? 0 400 2800
RET | A 0 29 224
kEHH 7 m? 0.23 0 0
ktEHE | Fm’ 0.23 0 0
T2
T H S hm? 1.32 0 0
FHEALERX HAEEN hm? 0.33 0 0
Ve IR He A 132 0 0
e Bt 6 3| 4 4% B m’ 19800 0 0
wAEHR | m 19800 0 0
TE#m LHEEx | hm? 0 0.42 1.87
B 37 H X
MR #MEEF* | hm? 0 0.10 1.36
i S| EWE (mm) 424.6
H ¥ K 24 /A% T (mm) 60.9




HANE (m/s) 7.8
TERLE (D 21.99
LEAKE O Bt (.8 Fi (B, )| TEERFE
HE LB E +4
AEd 4k mESHE s
E%#TAEAFEHE. WEATH I,
—%—_:m T =Y
WL R A AR 1 4
WA A L WK E SN, 2
AL LT 7 - 7 "

K, ZURKHBEEN.






